Paper: | B.E_B.Tech

SET: |ltem21

Topic: Mathematics-Section A

Item No: 1

Question 100001

_?;pees:tlon MCQ

Question: | f:{1,2,3,4} = {1,2,3,4,5, 6} 6008@ f(1)+£(2)=f(3), 6069 676" TRE A°GMI AAIR :

A: 60

B: 90

C: 108

D: 126

Topic: Mathematics-Section A

Item No: 2

Question | 190002

_?;pees:tlon MCQ

Question: 9@ o, B, v, 8 QAMRQd xt+x3+x2+x+1=0 @ a9 (Q1F) 2UF, 6069
2021 4 32021 | 12021 § §2021 gy

A -4

B: -1

C: 1

D: 4

Topic: Mathematics-Section A

Item No: 3

Question | 190003

Question MCQ

Type:




neN digl 796899 S, ={ZEC; Iz —3+2i = 2}
Question:
T
@ T, = {z eC:|z-2+3i = —} | 6062 646 {ne N:S N T, =} Q QIR A6l 26T :
n
A 0
B: 2
C %)
D: 4
Topic: Mathematics-Section A
Iltem No: 4

Question ID: 100004

Question Type: | MCQ

6R6063IT 8 € (0, 4m) QI VR IR AMBAS AL
3 (sin 30) x—y+z=2
3 (cos 20) x+4y+3z=3
6x+7y+7z=9 @ AANIF AL, I AT :

Question:

O oo | N Oy

Topic: Mathematics-Section A

Item No: 5

Question ID: 100005

Question Type: | MCQ

Question: Q@ I{]ﬂo (Jn2 —n—1+na + B) =, 6062 8(a+ ) 4R :
A 4
B: —8

C: — 4




D: 8

Topic: Mathematics-Section A
Iltem No: 6
Question 100006
Question
Type: MCQ
ouestion: | 99 [3, 0] 28AIQ (SUSUIR) 68 GRK f(x)= (2 —2v+7) o2 1221801431 g qdRQAIR f
| () 269, 6069 :
A: o= U
B o=—23
C ae(—1,0)
D ae(—=3; =1]
Topic: Mathematics-Section A
Iltem No: 7
Qlfestion 100007
ID:
Question
Type: MCQ
Quest @604l y(x) =ax3+bx2+cx+5 @ P(—2, 0) 0l6Q 1-28Q 06Q 1Q° y-299 Q I96Q 68
ueston: - <
REQ 6LROIER MLIQ 2FET (6gIC) MY 3 26T | 696Q ¥(¥) Q VIR AARIS TRy 26T :
A: E
4
B: 2_9h
4
C: E
4
D: 2
2

Topic: Mathematics-Section A




Item No: 8
Question ID: | 100008
Question
Type: MCQ
Question: 63Q (289) A={(x, v) : 22 < y < min {x+2, 4 —3x}} Q 68QTR AUET :
A: El
3
B: E
6
C: 12
6
D: Ez
8
Topic: Mathematics-Section A
Item No: 9
Question
ID: 100009
Question
Type: MCQ
62613 Qe AT x AR F6RRQ [x] @ & 92l x 0lg AR QI x AL AR AGRIR IR
geda-ayl | 96RRa f 9@ Q! TRe AIRIQ [—10, 10] IQAUIF (2eQIR) 6@ IZAd
Queston: *~ [ i is odd AQ00 AAUARAG | 6969 ul T dx @ ga
xX) = — X) COS X
e 1 + [x] — x, if [x] is even. » Y 10 —1{]f( Jeos R
26s :
A: 4
B: 2
C: 1
D: §]
Topic: Mathematics-Section A

Iltem No:

10




Question

D: 100010
Questi
T;Jpees: on MCQ
Q@ C: y=y(x) 90 69614 31 (x,y) 0I6Q CEINRAI FFRQ 2AST (e@;uq) _ 6‘3:;; 4
Question: 2hibe
2lee | 9@ @@ C [0 Ly FJ (a, % ez'l} AQYER F1RICAR O F6Q, 696X e AR :
A: 3+ \/E
3 =42
N 3 42
V2 (3-42
N 1 (241
V2 (V2 -1
D: 'JE i
2 -1
Topic: Mathematics-Section A
Iltem No: 11
Question ID: 100011
_?;pees:tion MCQ
Question: ARR AARAE (x—yA)dx+y(3x+1y)dy =0 Q ARURAE ARG 6T :
(2 + )%= Cl(y2 + 20
B: (j2+2x =C|(y 2+Jc) |
C: [(y2+x)3| =C (2y2+x)*
(124213 =C (2y2+x)*
Topic: Mathematics-Section A

Iltem No:

12




Question

D 100012
Question
Type: MCQ
6ol 606l QIR 2ee! (6QI€) 1 0l 99 B QIFl 98 A(4, 3) F11l 69@ 90 @6Q IQ° 63
Question: B o acy ¥29
- | x—y—2=0Q BEROIER 629 @62 | IT 60¢lIHS AB @ 63y —, - U6e, 696 B ¢kl 9@ 60l
QUER ARLG 2Rl €SS 26T :
A: 2x+y=9
B: 3x—2y=7
C: x+2y=6
D: 2x —-3y=3
Topic: Mathematics-Section A
Item No: 13
Question
ID: 100013
Question
Type: MCQ
Questi FI6R9Q NG QR 698 (o, B), B> 0 Q A°GIQ 9 L | 9% 90 a4 98 12+ (y—1)2=1 q Iy
uestion: « < )
Q8 P6Q I x-2WQ A6 REQ | 6969 69¢ll y=4 9&° L QIQl ZSE 6399 6IQTR 26T :
A 3242
3
5. 4042
3
C: 6_4_
3
D: g
3
Topic: Mathematics-Section A

Iltem No:

14




Question

D 100014
Question
Type: MCQ
=3 w44 z=7 = X _ Yy _z
AAREQS| = > = = Q@ A PR LR YQ° dAPERW — = s = — @°
Question: x Yy _z R _ R o
5 = ? — g @ A PACYQ LLIOR Y N 6RINCQ! AIIONCR AAleadl P 26T | 49 @K (2,
—5,11) O P @ @QQ d 294, 6962 d? Qe :
N 147
2
B: 06
C: g
3
D: 54
Topic: Mathematics-Section A
Item No: 15
Question
D: 100015
Question
Type: MCQ
— —~— = — = - = o —
A68a ABC 9@ 99@ 699@@ BC = a, CA= b, AB= c, a‘ =642, b‘ = 23 we°
- = -
b:-c=12 199
Question: sy & fe S
(S1) : |(a X b) + (c X b)| - |c| =6(2v2 = 1)
“al (2] o A
(52) : £ACB=cos 7| \[= | g5Q 610 @Q | 6969
A Q@@ (S1) 98° (S2) A9
B: 6@Q@ (S1) Q9
c 69 (S2) A0
D: Q@ (S1) ¥e° (S2) O




Topic:

Mathematics-Section A

Item No: 16
Question
D: 100016
Question
Type: MCQ
Quest €@ 9@ QUQ Q4ea IR (FQ) 9e° gaad (RRY) @ Aad 8 géda delaes 24 9Q°
uestion: .
128, 6062 9@ QI QE6 ATRFIQ ARV AT :
2
2
2
2
Topic: Mathematics-Section A
Item No: 17
Question
ID: 100017
Question
Type: MCQ
Question: Q@ 9@ 22 Al 38a 349 () ALEITY QR A CTUPER o 9e° B 6, 606@ ALY x e R
| g 24 ax+p = 0 629N AAUNS! 6T :
A: E
36
B: E
9
C: l
2




19

D:
36
Topic: Mathematics-Section A
Item No: 18
Question ID: 100018
Question Type: | MCQ
Question: —41 < x < 47 AR |cos x| =sin x Q AAJF LI 26T :
A: 4
B:
C 8
D 12
Topic: Mathematics-Section A
Item No: 19
Question | 490019

Question
Type: MCQ

9@ 92 (91819) PQ 9sa Q G Quil 02l 621928 | 9@ G R, 0lGI06q 9@F 2°d6a
Question: | QIFIRER LY@ QR=15m | 9 QYIQ Y@ @ A 09 R FQa 6@l6d QKRG 60° 6T, 1a°
FIgIeQ PR 2°d, A @Q0I6Q 15° 6Q18l AR @6Q, 6069 FIgIA (817) Q L9l 26T :

A 5(243 +3) m

B: 5(/3+3) m

c: 10(v3 +1) m

D: 10(243 +1) m
Topic: Mathematics-Section A
Item No: 20

Question ID: 100020

Question Type: | MCQ

Question: Q0] QEGER Frg 629 Jrad (Yeaey) aes ?




A: (~p)vaq) =p
B: p=((~p)vq)
C: (~p) vd) =q
D: q=((~p) v q)
Topic: Mathematics-Section B
Item No: 21
Question
D- 100021
Question .
Type: Numeric Answer
2 =1 =1
- J3i—-1
ee@aa A=|1 0 =i qQ° B=A-1 | 4« m=T, 606 646
Question: 1 -1 0
{n e {1,2, ..., 100}: A" + (mB)rl =A + B} Q QAL L6 Dl I
Topic: Mathematics-Section B
Iltem No: 22
Question | 100022
Question .
Type: Numeric Answer
96 ‘MANKIND' Q 2809eq 902 daQ Qreq 6adidnl ¥9° Qaie! de6ald (8971a1) 63
Question: dal dReQl RU6a ARIR TGl | 6062 48 ‘MANKIND' @ 9@ 9% QIRgQl 48 99 Q°s
e I
Topic: Mathematics-Section B
Item No: 23
Ql.festion 100023
ID:
_CI_)ue§tion Numeric Answer
ype:

Question:

;X =20 Q gUInglea t ¢edel dea QI‘E:‘I&J}S? gmi K 2eg, 6062 8 K=




Topic:

Mathematics-Section B

Item No: 24
Qlfestion 100024
ID:
Ques.tion Numeric Answer
Type:
16709 a, b 9AG AR Q1YY Y | IF p I&° 1, QUG AMPRE x2—8ax+2a=0 Q IR
& g - s 1 F 1 1
Question: Lae 99° g 9Q° s QUIY AR x2+12bx+6b=0 @ e 929, IR —, —, —, — 9@
P qQ 1 s
d7I8Q 65416Q 9@8, 6962 a—1-b~ ! Qi@ |
Topic: Mathematics-Section B
Item No: 25
Qlfestion 100025
ID:
Ques.tion Numeric Answer
Type:
6@ geia QI@@Q el n = 2 AR a1=b1=1, a,=a, ;+299° bn=an+bn_1 | 6069
Question: 15
> a, “by |
n=1
Topic: Mathematics-Section B
Item No: 26
Ql{estion 100026
ID:
Que§tion Numeric Answer
Type:
|4 —8x + 3, @@ sx-6x+120 (
6Re IR f(x) = 5 5 o €de0leR [a] @ 22 o Q@ Fgmi
Question: [475 — 8 + 5}, Q@ 8x2 — 6x +1<0,
@ Ql*’c‘:‘lél‘é? q@ﬁ"‘éﬂl gl a 949 49le @ a Ol 4die | 606 QL 464l 646 e 3 (e
@RI RGNS @@_ a°giil 2les I
Topic: Mathematics-Section B
Iltem No: 27
Question 100027

ID:




Question

Numeric Answer

Type:
k-1
~ . (m+1)
ae I!llil‘:cw [(rik+1)+(r|k+2)++(nk+n)]
Question:
1
— 33 lim : [ Ky oK K K} <
e I+ 27 +37 +..+n [, 6069 K Q gaIQ°l ¢)au
Topic: Mathematics-Section B
Iltem No: 28
Ql{estion 100028
ID:
Que§tion Numeric Answer
Type:
1699 99 9 x2+12—20+2fy+1=0 @ QA& NIAQ AMKQE 2px —y =1 98" 2x + py =4p,
Question: | 636Q YRANEIAR 3x2—12=3 g6 ARG IR AL VA 62 & 6aa 0 QR VTR 69K
_
Topic: Mathematics-Section B
Item No: 29
Question | 100029
Question .
Type: Numeric Answer
- - ~ 8 6
. LAGYLRQ AR AR, IDl (i) USRI 75x2=64(5y—3) @ Q9 [—, —) OleQ Q° (ii) y-2YR
Question: = 5 5
A4 @69, el 26s |
Topic: Mathematics-Section B
Iltem No: 30
Question | 490030
Question .
Type: Numeric Answer
2 W=1_ & x—8 yw—h _g—1 _
6ol = = — Q° = = QY FlUEQ FROT LAQA QTS
1 1 2 2 1 &
Question:

AR P:ax—y—z=0 (a >0) Q@cos ! [1’%] 6Rl6l QAR F6Q | UG AR P 6a &1 (1, 1,

-

—5) Q 96eR Q9T (o, B, v) €9, 696 a+p—y




Topic: Physics-Section A
Item No: 31
Question
ID: 100031
Question
Type: McQ
Questi Q9@ Q°694 [P], 6A0@ [A] ¥Q° A [T] CLEAUR AIGI 24, RACKITT (dUIFe1) FaITa 2
uestion:
6R6Q 699 ?
A; [P A~1T9
B: [P A T_l]
C: [P A —3 T]
D: [P A-1T- 1]
Topic: Physics-Section A
Item No: 32
Question ID: 100032

Question Type: | MCQ

Question: | 6B 60W QB 6ANOR AIGIR ZIKIF AR 26T ?
A Jque GaeqQsne Ad4 (D) wer Je19 QIF A9
B: @Q6QRAETY RS I° AQYG, 699

c: Q609 AFQ 1° J9IM 916 99Q

D: QAQYQ, Qe 1e° 99

Topic: Physics-Section A

Item No: 33

Question | 100033

_IQ_;pees:tion MCQ




@68 QI8 Q1Y CAER TE6R QUCRI IQ A § B @ 68 @Rl | 98 6 60 m QAG! AR QR 6669
QRIge (G96g9end) @ daels gy m 699 |

(cos 135°= —0.7)

Question: B ,\
> A
A: 42 m
B: 47 m
C: 19 m
D: 40 m
Topic: Physics-Section A
Iltem No: 34
%feS“O” 100034
Question
Type: MCQ
05 kg @ 9@ 9€ A0@6Qdl6q v=3x2+4) ms~! 6906Q G0 @6Q | @@ QA x=0 § x=2m
Question: . . ﬁ N
Q9199 I @ LIREUX ALY RDIQ dQENE ST QQG\GQ CQER 699 ?
A: 64 ]
B: 60 ]
c: 120 ]
D: 128 |
Topic: Physics-Section A
Iltem No: 35
Ql.festion 100035
ID:
Question MCQ

Type:




ACNI® @49 M G2l QAR R QI @ 99 IALQ 9° 66IAR, 9@ 2ARER ‘N aeel 348 63R,

Question: | (GeQI4) JIG 9 CIF6M | ARG YL° 60N FIER 6ACIER FALe IPER ATUR 66 RIS
6REG 62Q ?
A: E
3
B: E
5
C: E
5
D: E
15
Topic: Physics-Section A
Item No: 36
QLfestion 100036
ID:
Question
Type: MCQ
Q6T @ QAR @8l A, B, C, g664@ 100 kg 99Q 6a @ Aaneasisa aslgem, JUad
Question: | AB=BC=13m | 2@ 4@ AAIe @298 96 @dal P aJ6a, AlkIegd 9@ F 2866 | P, B @dal 0Iq)
13 m 9a6a AC 60¢IQ §af GAeIee RU6a Qslden, F @ Y Q66 629 ?
A 21G
B: 100 G
C: 59 G
D: 42 G
Topic: Physics-Section A
Item No: 37
QL.Jestlon 100037
ID:
Question MCQ

Type:




Qe AR} 9GaIga 9YIq AIRIR 2I9eR V G2l 27°C SIgeIgl 2166 99° @id 2x 107 Nm ~2, QeaIgig
JRG6R IR ALER Q@GS 621N JARe KRAUAN | QIF6a QAR 2IFUIERER (CIaQFa)

Queston JRGER R 2INere 9RgE SRIdRl | FYQR A 91 (699Q)a JAslE 6060 629 ?
(y=15)

A 3.536 X 10 Pa

B: 3.536 X 10° Pa

C: 1,25 % 10° Pa

D: 1.25x 10° Pa

Topic: Physics-Section A

Item No: 38

Question ID: | 100038

Question Type: | MCQ

Q160 ABgeR QUARE |
(A) NI AGQ LAAULAR 96 9@ SIAAIG @Fem 21 <IN |

(B) oMY 2gQ 2QILIA 66 68 cId QF A2 a SIUAIgIea QF I |

Question: (C) NI AR LANULIR 6 9T 2Iger Q& Q2 214 I |
(D) oNIQ@ 91T QIAAIGI Q& A2 Fa IJ6a Q& A |
(E) 9IQQ 2I9er QIaIgl @& 42 219 dIN |
G 9of 9ag 9@ g A0 2T QUL :

A: (A) 99° (D) 629%

B: (A), (B) 99° (D) 629w

C: (B) 9&° (D) 609

D: (A), (B) 99° (E) 609

Topic: Physics-Section A

Iltem No:

39




Question

D 100039
Question
Type: MCQ
k [|[2ml k k 2k
7
.
A B
Question: (&) ®)
96 (A) 68 ‘M’ 9@99Q 2m’ A 64IF Qa6 §° QIgIe §° gais k A2 2GS, @AM | T (B) 6@ ‘m’
Q999 ‘K ¥e° 2K §° gdlie Gda qa F°6q caIgieql (2I919e) | A8 (A) oga @49 ‘m’ Gal (B)
§g9 9¢4¢ ‘m’ § ‘¥ 906! e Ja6a FATE @QIAIN, 6669 T, ¥e° T,, (A) ¢l (B) @ JaIg6s
2IQERIR 6267, 6R6 NG RUAYS ?
Ty )
A: — = —
T, <2
B: _.E._ = _Sh
Ts 2
c di o &
Ty 3
D: _.Ti — _\/_E
Ts a
Topic: Physics-Section A
Item No: 40
Question | 100040
Question
Type: MCQ
19 Q°RIAQ FIRIQ AUIGGI 2 uF 266, 6lf 0 Q 5C @ OIe @AUIRN | 609 FITE 30 ddaia JAees
Question:

(2°015eQ 696 FRIER 2R1) B2l ARIRGR VTR AR AR |




>
= 5%
X
A: b
T 25¢--------= '
0 5— Q(C)
2
= 5
X
B: e
? 2.51
0
=
S
X
C: et
T 2.957
0 5— Q(O)
=
= 5%
X
D: et
T 25¢1-----=
0 5— Q(CQ)
Topic: Physics-Section A
Item No: 41
Question 100041

ID:




_?;pees:tlon MCQ
QEEANE 6R 98 29! Qe @@, 9@ AAIR QAR RGN 6 G9Y GMA GFER JeRd @eR | 9@

Question: | 6QAFIRER YA1G U2 IANR QUG 6:5 29 621 6AAPFR ALFR AFUIS FRAFES 9 : 4, 6AANPFR
SR UGS 6REE 62@ ?

A: 345

B: 5:4

C: L

D: 347

Topic: Physics-Section A

Item No: 42

Question ID: | 100042

Question Type: | MCQ

Question: 6R6RI697 (2QRIQ) 28R, 6441 A°Ys8 LCR @06 9F dia
A: R4Q 298 9F *aIdel 50 |

B: 2 9@ JE6Qld1g gelel goealdl Q2 6§41 A%6dIel @QIdel @50 |
C: AN Q@ RG] Jan A°RAG AL 654160 A°6KIG FQLR RFES |
D: QEQ YIQR @ ST RT6 |

Topic: Physics-Section A

Item No: 43

Question | 100043

_CI_J;pees:tion MCQ




49 6816 ‘I Q12 394 QFIPIR GIQ ROR AR YR @9 AIRIR ‘L’ Q2 JIQ GIQ QY FRIER ISR |
(L>>]) @9 Rd 29 692 (A76R) 62 228 02l oIeq AT ‘O’ Ol6a (Fg6a QIR Td)
Q2a | 1@ JaAQ IQUIN RAVEq] (UI0AAR 690RG) 6R60 629 ?

L
Question: [
Ll 1 5 |t L
D e
D RETTLPERLE | EEEEEERETEE >
242 pal?
A: Ko
Trl
2
242 7L
22 pnl?
C: K0
L
2
D: —l‘l{] L
2'\/5 vl
Topic: Physics-Section A
Item No: 44
Question
ID: 100044
Question
Type: MCQ
@ 2718Q 640, ANNGER FRLRIR 8604 (AAQI21 gRI2) @ rms MY 6.9 pA 6T | 4@ ARG
Question:
230V ac @2 QI2ie 298 600 rad/s A2 CAIQILIRE, 6069 IR GG €QE6E 629 ?
A: 5 pF
B: 50 pF
C: 100 pF




D: 200 pF
Topic: Physics-Section A
Item No: 45
Question
ID: 100045
Question
Type: MCQ
Question: | R6C]ID 6AR RART AGY ?
JIRcaal 69969l (diFe QA7) 62 AR AR A AUER IQ° QRGET QEF AQQ F6R
A:
QAR 6QYalNg |
B: glaea @Qdqaea Q@66 Qiuf 49l Qe @dl @im Quf 990 e PR 6] |
giafie QQRUPER AR 0T ndQ AR LI UGG eReR AAY IR JFTReR deIQ
C:
28 |
D: glafae aQie 646aaial aLie Onelea @Y eédw 26T |
Topic: Physics-Section A
Item No: 46
Question
D: 100046
Question
Type: MCQ
2IEAIR QAR 6716000 Qa6 9g A 99° B AI2IQ gOAQEIR p, 96° py 26T, FRIER 66 KaQlq
QUREA £, NQ° t, AAG D1 9@ t,— £ =5x10"1059Q° p, @ py AYLIS 1:2 249, Y6SIR ¥R
Question: -
6160R 6Q6Q Foa 62 ?
(v, N9° g, A NQ° B QIIRIFER ICAINA 696 AU6T)
A 5x1071% v, m
B: 5x107 10 m
c: 1.5x107 19 m
D: 5x1010 v M

Topic:

Physics-Section A




Item No: 47
Question
ID: 100047
Question
Type: MCQ
800 nm 9ae 63QYR AIEAIR AlG RACR AFR ¥e° FRQ FEw 8. T6E RERg Q. 796 caml | A8
500 nm GG AAYR AICAR MRLIR 84, AR 6 48 T6E! ARG PR QRS 62IRAN |
Question: , 5
6710IR, (IQ) @ GI9 IeaR (Y TRR) 6R6Q 629 ?
(hc=1230 eV-nm)
A 1.537 eV
B: 246 eV
C: 0.615 eV
D: 1.23 eV
Topic: Physics-Section A
Item No: 48
Question ID: 100048
Question Type: | MCQ
NN R N [ nth @gea W2l @EmGg 20 4°60l 6¥ml :
Question:
(dam 969 cIea QUeLIRe g gals aqad)
A nh
27T
B: E
2r
C: ﬁ
2
D: m
nh
Topic: Physics-Section A

Iltem No: 49




Question

ID: 100049
Question
Type: MCQ
REARCRR AR A°6QT (:e) 260 | 9@ QIPAQ QIdes afd eqlde A%6ed (L) A2 ggael
Question:
9
RERQAR | 629 :
.%
A: s al.
b 2m
.%
B: i el
=3 P
k 2m
_._}
C: i . el
By = - —
m
_)
D: — _ 2elL
ki = ——
m
Topic: Physics-Section A
Iltem No: 50
Qlfestlon 100050
ID:
Question MCQ

Type:




QAUARYS! AQGFR A=T1or B=1 24 9& A ¥e° B 0I6Q 9@ 5V 29 99° A=0 or B=0 646Q
A 2QI B 0l6a §@Q 0V 29 | GRIKIRAIQ AR g8l 669m (AGUG! 669R) @8l 699 ?

D,
Question: | As m
D, .
B K] % R
_—_l__ 5V
= V=0
A B Y
0 0 0
A 1 0 0
0 1 0
1 1 T
A B Y
0 0 0
B: 1 0 4
0 1 T
1 1 T
A B Y
0 0 0
C: 1 0 0
0 1 0
1 1 0




=T =T, S
= = o o o
S = o= =

D:
Topic: Physics-Section B
Item No: 51
Qgestion 100051
ID:
Question .
Type: Numeric Answer
150 kmh ~1 696160 66 @QAQ! 9@ QIR 69Q AIARI U6Q 27 m 26QA @6 §a 4 | 98 63x AR
Question: | QIQE GILIRYS! FEQ 9@ QPIA°E 6Q06Q 6 FQ2IB 6G6Q m dal 96Q (691 ARSI
deq) QG dq 629 |
Topic: Physics-Section B
Iltem No: 52
Ql{estion 100052
ID:
Ques.tion Numeric Answer
Type:
AICHIQRER 2R ‘P BQ 206 TIRE @@ Iy @98 | F, @ F, @ 2Q0Ie 1: x 626R x @ @y
62Q |
Question:
Topic: Physics-Section B
Iltem No: 53
Question 100053

ID:




Question

Numeric Answer

Type:
L 636l 02l r MARQ IR GI0Q 661G OG I8 NER ¢t FAILIRE | UGG @ ‘F' 996a SN,
Question: QIR MEL 5 cm 9§E]I‘<l | 294 9@ QI KIRIQ @ 41, QAT 4r @ AR QEQ 4F @@ QIQl GElIolem,
Sl 6aaY cm 999 |
Topic: Physics-Section B
Item No: 54
Ql{estion 100054
ID:
?ues.tion Numeric Answer
ype:
20 cm @09 QA 291 IR GRC 629, (KILIQ AR SITNIG! AL QAER FIR) QI 2l INAR, AR QRIQ
8069 LITRl | ROS YR AR TR QWER 64, AR 6RAIR AITRY §a Q6L | 9@ QAR 6T4Y
Question: 2
40 cm 99 6069 NN @y cm 699 |
(ygaq=1-2%107° KT ag,, =18x107> K1)
Topic: Physics-Section B
Item No: 55
Qgestion 100055
ID:
Question .
Type: Numeric Answer
1R IdY6RER AREAR 9F 18 kmh—! 6006 QIR Qg AINE | 6 986x el KAQ AIYAL
Question: | AIREQ G2l AILIGY AALQ YR 6Q Fan | I AL AIYAR ARWR gAS AR 640 Hz 9e°
AREQ 696 320 ms ™! @4, 606 61 QAU ANG ARY AUEH QG AIRE Hz 629 |
Topic: Physics-Section B
Item No: 56
Qgestlon 100056
ID:
Que§tion Numeric Answer
Type:
6 m QAR FTY IR 60INNR 2IVER BIF RQ 2 pCcm 3 ACE | CFINRR JIOR 698 ALIQAL
Question: | 99 98¢ 68QTR AREAHIGFAR Ayl x 1010 NC—1 6@ |

[@a : g6 AIRGMG! €;=8.85x10"12 C2 N~ 1-m~?)




Topic:

Physics-Section B

Item No:

57

Question ID:

100057

Question Type: | Numeric Answer

ogea V, @ am V 629 |
2V k0
I AYAYAVAYAY
4V
_ | 1 k()
Question: | AN
6.V 1kQ
, NV f;
0
Topic: Physics-Section B
Item No: 58
QL{estion 100058
ID:
?ues.tion Numeric Answer
ype:
5 2106 ‘I 63y 02l ‘d’ I AFY RUQ BIAG ATRR NIER 6AIE R gH6alIa @ gq 24qa (Q19q)
uestion:
JRIg@l | 9@ 21 QYR 9@ QU QIR gEeaId AR 29 6669 SR M d 629 |
Topic: Physics-Section B
Item No: 59
Qgestion 100059
ID:
Question .
Type: Numeric Answer
49 QEdl (0aF 6964=4000 A) LED 6@2 QId @92iQ aqidiadQl Aasiee (628 @06q°)
Question: | 6FI6EQZIAQR YRE QUG QI eV 629 |
(QIgt Q°atyl QI QRS AT Q)
Topic: Physics-Section B




Item No: 60
QL_Jestion 100060
ID:
_?ues.tion Numeric Answer
ype:
6.03 AF AL AR eee TV ¢IGI0a @@l h 26Q | A9 21U FEA°HY AFS! 100 S Qg
Question: . ﬁ
Fenficq 9e° daIq QIR 6400 km 994, h @ gy 166 629 |
Topic: Chemistry-Section A
Item No: 61
Question
D- 100061
Question
Type: MCQ
SO,CLe 2@ 9 ADe goqalq 9@ aAgia dga dde 29 | SO,Cl,+2H,0 — H,S0, +2HCI
Question: | €@&l¢ qQd ﬁ@ﬂ@l geie g4 Qﬁéj galela g 98 16 67lm NaOH @@ @6Q @I626em HQue
6210991 2IEAER 6RIAUNAR 671 A°HYI 6292
A 16
B: 8
C: 4
D: 2
Topic: Chemistry-Section A
Item No: 62
Question ID: 100062

Question Type: | MCQ

Question: Q96 QIR FIRS AR (119 6RLE AR 6L ?
A: n=3,1=2 m1=[],s=+5
B: + 1
: n=3,1=2, m=-2, s= )
C: l
2




D: 1
: n=3,1=0, m;=0,s=— 75
2
Topic: Chemistry-Section A
Item No: 63
IQD‘feS“O” 100063
Question
Type: MCQ
05 mL L™! QI99Ia 4@ gofif gga 99da 2rlaa 2eefe cadignl 0.0405°C | gafia age
Question: | 999 6268 1.05 gmL ™! |
AR, 2¢) A9 604 9T RINR 6208 | (kg=1.86 k kg mol ™)
A: 0.8
B: 1.1
C: 1.9
D: 2.4
Topic: Chemistry-Section A
Item No: 64
%_‘GS“O” 100064
Question
Type: MCQ
20 mL @ 0.1 M NH,OH q 40 mL @ 0.05 M HCl 9% {¢idiag | fdgda pH 6298 |
Question: | (@@ : K,(NH,OH)=1x10"">, log 2 = 0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84, log 11 =
1.04)
A: 3
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A
Item No: 65
Question ID: | 100065




Question

Type: MCQ
QRS -1 Q@@ - II
(A) Ny(g)+3H,(g) — 2NH;(g) 0 Cu
(B) CO(g)+3H,(g) — CH,(g) + H,0O(g) (I) Cu/ZnO—-Cr,O4
uestion:
- (C) CO(g)+H,(g) — HCHO(g) () Fe,O,+K,0+ALO;
(D) CO(g)+2H,(g) — CH;OH(g) (IV) Ni
A0R, QRG] 7 Se8 g QIS |
A (A) - (IT), (B) - (IV), (C) - (D), (D) - (1)
B: (A) - (D), (B) - (), (C) - (IV), (D) - (III)
c: (A) - (W), (B) - (IV), () - (1), (D) - (I
D: (A) - (II), (B) - (I), (©) - (IV), (D) - (II)
Topic: Chemistry-Section A
Item No: 66
Question ID: | 100066
_?;pees:tlon MCQ
Question: QY RERY, Q1A SIQ [Rn] 5f46d17s2 2191 4@ 6(1R@a IUPAC RIF1904 6208 |
A: QAEANSACL
B: A3, GEAR
c: 2l azlala}
D: Qa0 Gaa
Topic: Chemistry-Section A
Iltem No: 67
Question ID: 100067

Question Type:

MCQ




QU g8 AKeR AILIR KRl 6015 (4@a) 6208 | 62988

(A) CaO
(B) FeO
Question: (C) ALO,
(D) ZnO
(E) NiO

A0Q 290q 77 a8 FrIg QI8 |

A saee (C), (D)
B: 629% (A), (B), (E)
c: 6ae@ (A), (B)

D: 6897 (B)

Topic: Chemistry-Section A

Item No: 68

I%‘?GS“O” 100068

Question
Type: MCQ

Question: | H,O, @ €61dge 9Qelishers 926 2gid AR goqalq (61es 608 29

A Mn2+

B: Mn4 oy

C: MH3 +

D: Mn& +

Topic: Chemistry-Section A
Item No: 69

Question ID: 100069

Question Type: | MCQ

Question: QIa1g IQGEea ARea A0 §71q I8 :




A: Li<K<Na<Rb<Cs
B: Li<Na<K<Rb<Cs
C: Cs<Rb< K< Na<Li
D: Li<Na<K<Cs<Rb
Topic: Chemistry-Section A

Item No: 70

Question ID: 100070

Question Type: | MCQ

3¢ doaaIq 906 QdIQ B 6Q 6216QIR SIGUR RUIFTER 0w 6298

Question:
BE; + NaH — 29K , A |+ NaF
A + NMe; — B
A SIREAIRIR IR
B: 606216 22IR
C: daufielin
D: LI IR
Topic: Chemistry-Section A
Item No: 71
Question ID: | 100071
Question
Type: MCQ

Question: CRIFRQ 2YR 6FIRR, ALe JoRadlq TRl ABRACAICHR, 61T J% 6208

A 2I6UILIMIRG,

B: QNG

C: JQ@6ne

D: ARIRG

Topic: Chemistry-Section A

ltem No: 72




Question ID: 100072

Question Type: | MCQ

Question: 2IeRIR AUADRS Jolea 1l QeI :

A: NO
D: HCHO
Topic: Chemistry-Section A
Iltem No: 73
Question
D 100073
Question
Type: MCQ
6dldi@ A, ‘X" 9Q° Y’ Q@0 goQal @8 A7Ie (4 UIe @g @2 A2 @QIQ ‘a’ 99° ‘b’ FUIR @9E |
‘2 QP08 G946 I 990 aAQle @ |
GHs G
X
—— > a+0=C-CH,-C-CH;
, CH,4 CHj,4 |
Question: I [ CH;,
H,C=C-CH,—-C-CHgy
| CH, CH;3
cdlde ‘A’ —>b+O—C—CH2—(|3—CH3
CH,
X’ 9° ‘Y’ QeIRET 62289 :
A: K1\41104/I—I+ and dil. KMnQO,, 273 K
B: KMnOﬂdﬂute), 273 K and mn04/H+
. +
C: KMnO4/ H™ and O,, I—IEO/ /n
. -
D: 0;, H,O0/Zn and KMnO, /H
Topic: Chemistry-Section A
Item No: 74

Question ID: 100074




Question Type: | MCQ

Q¢ AU AQ0IQ A QUIST 6298 :
OH

Question: (i) HyC 4©— SO,(Cl, Pyridine
>

(i) NaCN, DMF

L




Topic:

Chemistry-Section A

Iltem No: 75
Questi
Do 100075
Questi
T;Ipees: on MCQ
Question: | GqAge 9ERAYFR AIg @4 98 I8 QAR JERAI IR I9° aQleq A0 Fgaq @6 Q1@ ?
)
A Cl H, H
}.
Pd.BaSO,

B:

(i) DIBAL-I—I H

(ii) Hy,O

CO,(C,Hj

C:

(i) AlH(iso Bu)z

(ii) H,O
D:

OH (1) NaECIZO?
(i) H,SO, H,O

Topic: Chemistry-Section A
Item No: 76
Question 1 100076
Question MCQ

Type:




4@ 659 64159 ‘A’ NH, 996 goaal J6a das @em 64130 ‘B’ @9 Q12 gaaia 2R J0s @6m

Question: | gdl@i@ C (CgH;NO,) @4 | 6418@ ‘C" § @AIge6a R2IeRQ KOH , 2Inaa 690106, 1e° A 486
@R JJ9ee Joadl Ken 9@ gladie 2! O | 6d1e ‘A’ 6298 :
CHO
CHO
CHO
’ Oi
COOH
COOH
COOH
CHO
OH
Topic: Chemistry-Section A
Item No: 77
Question ID: 100077

Question Type: | MCQ

Question: CAMAIRE PLRGC 006 29 A°ARRY :
H,N N NH
2 \(/ j|/ 2

A N + HCHO

-

NH,




H>N NH
B: NTN + HCHO
NH,
H,N NH,
+ HCHO
C:
NH,
NH,
/
N N + HCHO
NH,
Topic: Chemistry-Section A
Item No: 78
Question ID: 100078

Question Type: | MCQ

Question: g8AI00 gIRad AFNER 689 LATHIT VRS QL8R ?
A: gleae

B: Qo119

c: Q019

D: P4

Topic: Chemistry-Section A

Item No: 79

Question 409079




Question

Type: MCQ
q Q6QUeR 999 @R AR 4926 38, gInee QIHIAnc Rl @ed e QIElg 20RIRAIE, @
uestion:
QRICAN :
A: 2ENRRY
B: 2l1QI66IF R
C: 6mI68QaQ
D: 218 2RUAFAQ
Topic: Chemistry-Section A
Item No: 80
Question
D: 100080
Question
Type: MCQ
Qc16e 96 @3 QUIAIRE |
@8 1: §eaeng KHSO, 990 6af @6R Far1and @4 9° 16gIae 906 24 |
Question: | @@ I1: W6RINRR TR U QIYl 2T YQ° LY GeAana RUIE AV FAQUGY LRI
ARULIN |
A0R Aaeq QIS |
A: g 2@ I 99° @& 11 0] |
B: 09 28 I 99° @@ 11 g |
c: @@ 1 0@ @g @3 II g |
D: 2@ 1 gm @3 @ 11 OR |
Topic: Chemistry-Section B
Item No: 81
Question ID: | 100081

Question Type: | Numeric Answer




NG dRIGYGe Aug

- - — NL2— - - 02—
Question: Nz, NE r Nz I N2 ’ 02’ 02 r 02 r 02
JoQnRIN0! 6Q¢IRRel gRITa A6l 6208
Topic: Chemistry-Section B
Item No: 82
Qlfestion 100082
ID:
?ues.tion Numeric Answer
ype:
£9169Q, GITIRG 9° QIRLINERIERRN QeRa 1R2IRT 298 K 6q 6208 Qg6 —2220.0 k]
mol ~1, =3935 k] mol ! ¥@° —285.8 k] mol 1| 6gI60Ra 60%a YR2IRda (C;H,) AIe 6298
Question:
k] mol 1 |
(Facern gearaul)
Topic: Chemistry-Section B
Iltem No: 83
Qgestion 100083
ID:
Question .
Type: Numeric Answer
@ 6 GHIAQ Q1T 27°C 6Q 62R8 4 atm | @ QIAAIGIER CIGR 2ILERY G986 QQULIRE | Ga|
Question: | G4IQQ Q2 Q1T 6268 x10~! atm |
(@@ : 27°C 20 QUVIZ QId 6208 0.4 atm)
Topic: Chemistry-Section B
Iltem No: 84
Qgestion 100084
ID:
Question

Type:

Numeric Answer




298 K 6@ Zn|Zn2+(aq)||Sn**| Sn QIR 6918 @@ 6268 0.801 V | aa6ls goqal aia goaal
6199 6298 1072 | @4 26 AUAARR 6218 ORI PFO W6, 80 A°WYl 6208

Question: |
9@ : E° e ,E° == ) d 2303RT _
( EZn2+|Zn 0.763V, E St =t 0.008 V an = 0.06 V)
Topic: Chemistry-Section B
Item No: 85
QLfestion 100085
ID:
1Q_ue§tion Numeric Answer
ype:
49 Q1919 6130 A @ QUCRR ARIY 6208 240 sl 6d6E6ER JIRAR 2QT6R AVIG 19 AN 500
Question: | Torr | Q19 250 Torr, &Rl 696R 2RI Al 4.0 atm | JERAUR QAT 6208 |
(gdasl 299)
Topic: Chemistry-Section B
Item No: 86
Qlfestion 100086
ID:
?ues.tion Numeric Answer
ype:
Qg UEQ AR 9E] I0Ieg 7Y |
[Co(NH,)J® "
[CoCl(NH,)]>*
3_
Question: | [Co(CN)4]
[Co(NH,)5(H,O)]2 *
AQ0IQ) A7 GO 63U 2IEAIRY 64IFA YRR AR TR, AICFERER, 6716614 6208
B.M. | (Faceq gdacaul)
Topic: Chemistry-Section B
Item No: 87
Ql{estion 100087
ID:
Question

Type:

Numeric Answer




Co®*, Ti2*, V2* 9Q° Cr2* 2lge orig 6915Ne 98 2Eada Q16 MR AaILi, a9 26a
Question: | 2I6QIE9R, GMAIR | IR QY ARLIER 6@ IR, QAWID 2Igd 6298 BM |

(Facon gaasl)

Topic: Chemistry-Section B
Iltem No: 88

Qgestion 100088

ID:

Question ,

Type: Numeric Answer

Can@I2 gaINER 9@ 689 6dIdaa ARETIERR AIRRR 696w, 0.25 ¢ 6dIdeq QIeIfeel asaIgel
Question: | 25 mL @ 2 M H,50, @ 98¢0 @al | 689 6dIfieca 29l 2IR68I6eaq 018 (%) 6298
|

Topic: Chemistry-Section B

Item No: 89

Question ID: 100089

Question Type: | Numeric Answer

Question: 2989 C,H.N 62 2QI sp® =66 QI9q AWl 6208
Topic: Chemistry-Section B
Item No: 90

Question ID: 100090

Question Type: | Numeric Answer




Question:

a¢ 99a 9oRalea
H3C 5

|
C=0 Et O Et

CH, ~C —CH;
o)

(69w0 Et 6298 —C,H;)

QD A 60 89l AAFNE AIRQ LY 6208

>




